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11 DOoooood

O0000oo00oon oood (vecto) OO, DOOOOOO0OOOOOO
00000l e0O0000d. 0000000 oooooooooooon
oddob.0oouobobbbo0oobbbbbod (component) U O 0O,
a1,a2,---0000.n00000000 nO000000 a=(a,as, - a,) 00
00 |e|0,200 n000000 @,b0 00O (innerproduct) 0, 0000000

oooooooo.
la| = Za?, a"b:Zaibi-
\ i=1 i=1

oooy,oooooboooonoo.

(h JO00o0oooOoO0o0ooo00.000 (a+b);=a;,+b,000.
)a-b=>b-a
2)a-(b+c)=a-b+a-c
3)a-ab=aa-b

) r000000 ay,as,,a,0 1000000,r+1000000 ay,as, --,a.,b

O100000000,b0 ;0 10000000000000O.

@ 100002000000 aq,a: 00, 00000 @OO0O0 100000
gobooooog)yood.

43000000 a=(-2,-1,2),b=(—4,-2,4),c=(3,1,0),000000
00000000000000000000000 VOO0 @Ooo00)0
oooooooooo.
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1.2 ODOOoooog

3pgboboboboboboboooooooooooob200b000000
goooodg

) googooobo,0boo0bobbooboobooboon
) gogoobgooboobooobooboobogn

oot npyoboobooboobooobooo

gooo30b0b0000nD 1,2,300000000000000 ey, ey,e3, 00
O@oooooo’'cogooo)yoogooo v,223doopooooood
e, e,e, 0000000 DOO0OODOOO »000000O0ODODOOOOOO

! ! ! ! AN
T = T1€] + To€y + T3e3 = X1€] + T9€qy + T35

gobooo.

(hoobbodobboobobooboooboooboooboobooboon
go.ggbbouoodobobboood

Ty aix G2 013 I
/
Ty | = | G21 Q22 Q23 ry |, OO a;=e;-¢€;

X3 a31 dasz2 a33 xs3

O00e,-e;, 00000e€e,0e, 0000000

20000000000 0000000000000 0O0O0OO0 Rs(6)O
R()OR(H)DDODOOODOOOOOODO

o 30 2)y0 20 3010

(3) 0000 Ry(0)0Ry,(AHDR()0DO0OODODON
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1.3 OJOooooboooog

00000000000 0000 (vectorn)000.000D000DO00DOODOO
000000 e0000DO0O0O,0000000000D000300000000
00.0000 @b00000000 a;,bi(t=1~3)0000,a,b000 (inner
product, scalar product) 0 O [0 (outer product, vector product) O, 00 000000
000000000'000000000000000000DO00OOo.

a-b=ab; =|al-|b|lcosb, (1.1)
axb= (51ijaibj,52ijaibj,53ijaibj) = |a||b| sin 6 - €. (12)
o000 0000 @, b0000,e, 0 D000 @,b000000O0O0OO0ODOO

Ooooooo,00000 e00 b00000000000000000. g%
gobobobooggbobog,bbobugoobood.

g k| gk
1 2 3 1
2 3 1 1
31 2 1
1 3 2| -1
3 2 1| -1
2 1 3] -1
0

(H) Dooo0d0d e, b0000,axb=-bxal000000.

20000000 e, b0000,a-(bxe)=b-(cxa)=c-(axb)I00
goooo@ooo300).

(3) 0000000 @,b0000,ax(bxc)=b-(c-a)—c-(a-b)0000
D000 (@O0O0O0300).

@ obobo3bobobooboobooboon.

00000 20000000000000000000000,000000.

20110 10040 @OO0O)



